SZL-VL Honeywell

5A

10 A

UL, CSA, CE
1P64

SZL-VL
LED
" SZL-VL-A | szL-vi-a-LE | SEEVEAS
t L3
&7
5 SZL-VL-1 | SzL-VL-1-LE | SZb-Vi-1-
L3
3 SZL-VL-B | SZL-VL-B-LE SZL]X;'B-
|
I? - — -
SZL-VL-J | SzL-vL-d-LE | SZLVLd
A L3
A szivi-c | sz-wec-te | SH 0O
7 —
. SZL-VL-D | SZL-VL-D-LE SZLIX; D
hS SZL-VL-E | SZL-VL-E-LE SZL]X:'E'
SZL-VL-H | SZL-VL-H-LE | SZL-VL-A-

L3




SZL-VL Honeywell

SZL-VL-F-
L3

SZL-VL-F SZL-VL-F-LE

SZL-VL-G-
L3

SZL-VL-G SZL-VL-G-LE




YL-VL0L

Honeywell

( ™) 0.4
AC 125V 5A 3A
AC 250V 5A 2A
DC 125V 0.4A 0.1A
AC 125V 5A 3A
AC 240V 5A 2A
LED DC 24V 3A -
0.1mm ~ 1m/s 1mm ~ 1m/s
120 7/ 60 /
15 ( )
100 ( 500vDC )
1,000VA
2,200VA
2,000VA
10,000,000 ( )
300,000 ( )
20,000
106 306G
10 55Hz 1.5 ( )
-20 to 60
Max. 95%RH
10 SZL-VL-A 149
C-UL, CSA, CE
1P64
0.F. (gf) R.F. (gf) P.T. (mm) 0.T. D.T. (mm) T.T. (mm)
(mm)

600 50 20° s° 10 B°
342~800 21~50 20° ~° 10 B
203~800 12-50 20° ~° 10 B°

00 150 15 4 07 55

00 150 15 4 07 55

900 150 15 4 0.7 55

90 - 30 20 - 50

20 - 30 20 - 50

5-10




SZL-VL Honeywell

C-UL UL508 E150950 AC 100 200V ~ AC 80 240V 120Kohms
CE EN60947-5-1 NA LED DC 24 48V DC 20 55V 15Kohms

Resistive Load
AC 240V, cosF=1

© N l
(3)NO (4HNO © 1,000
—
R R
%) 500
O O S \
g
 p 5 \
N— o 300
5 \
(1NC (2NC = 3
2 N
= 100 N
2 30 >~
0 2 4 6 8 10
Current(A)
Cabk
Term nal Cabk Gland
Screws
SZL-VL
90 180

S YT 1T




SZL-VL Honeywell

<Surface mounting> <Through hole mounting> <Rear mounting>
N\ M M
mounting nut(M4) mounting screw(M5)
H—F= H—
long mounting screw(M4) - long mounting screw(M4) /
short mounting screw(M4). short mounting screw(M4)
- »
~ =1
washer washer washer
N 4%
4 dia 5 @3 4-5.5 dia ra B
560.3 56£0.3
ran ai Iy £
N b r e
21:0.2 2110.3 21:0.3
depth of screw holes> 15mm thickness of panel < 7mm length of mounting screw< thickness of panel + 7m m
AC AC100 200V 2
LED DC24 48V VL LED
VL
cover B Power Supply
M icro Switch
Insert the holder Indicator holder (Indicator ON at free position)
into the cover
cover

Power Supply

180 \ M icro Switch

Insert the holder Indicator holder - .
into the cover (Indicator ON at free position)




YL-VL

Honeywel

Indicator holder
A

spring
)  dia. 41.2 .08 15.20.8
%Ig:ahﬁler 1.622 .031 1.780 .031
N 36.2 0.8 40.208 |
nax (Roller can be 1.425 .031 1.583 .031
<20 rotated and locked
s in any posi
thorough 360
10.2 10.2
. 402 402
S
) M4 arm
fixing screw g_[ ]_{
1 (with hexagonal 2-M5 (P=0.8) g
mounting holes oles) 15 g (P70 185 .8
s 128 oot -728 "7 216 in depth
128 () - founting holes - mounting holes

20.4 0.3

M3x6 .803 .012
cover screw :
— 56 0.3 64 64
/: 2,205 .012 1520 2.520
Operation i 2-15 (P=0.8)
— d

2 2-45 (P=0.8
appe mounting holes
% | mounting holes
; :

<SZL-\L-A>

~

2-M3x23 =
cover_screw

LHRK
gz

7.50.2

7502
28 | 151 |-2%5-008 15,1 | 2% 008
1.102 594 | o5 594 204023
o 984 > 803 012
15

1.193

(Standard type) (Indicator type)




SZL-VL Honeywell

55 (44.9) (44.9)

; 1.768 1.768

g, e e

1.429 .031 1.429 .031
o N
Pl 2.6 .102 dia. rod
(Roller can be rotated
and locked in any
1 position thorough 360 )
. . 0.2 10.2
Adjustable lenght of rod W4 rod fastening plate 402 402
(30-118) screw with hexagonal holes ~— R
Rod faster late
. | — . = r =
2-4.1 %" dia. ~
mounting holes 18.5 85
728 728
25 Rod mounting metal / Rod mounting metal /
= B —_—
& e mounting rod 4

fastening screw with
hexagonal holes

W6 mounting rod i
fastening screw with
hexagonal holes

M3x6
cover screw

nounting holes nounting holes
- 56 0. 6 64
> 2.205 .012 2.520 2.520
Operation indicator A
I~ 2-M5 (I ) tapped
L — ! ]
| - | -
2-M3x23 Il: C =
cover screw - — 14 = v 14
r:% 551 Eﬁ' 551
| [}
502 7502
00 15.1_|-295 .008 _1%}’_ 295 .008
28 -594 120.4 0.3 . s,
1.102 2 ~803 012 303 [
Tesd | 1199
(44.9) (1.768) (44.9) (1.768)
(Standard type) (Indicator type)
7. 276 dia.
5 10.2
steel plunger , 402
PT 1.5 max .118
2-4.1 5 |
26.5 L) 4 L\ 4
mount oles 1.083 157 157
| |
aryl N Al v
M3x6 20.4 0147 P §25.@:M5 (P=0.8) tapped pre 03t 58 (P=0.8)
X7 nyloy rool 3f5 0.8 81 i 33.5 0.8
sajus SN g e, o can be otate -808 Q2% ,ozl—l r7n0L|n7t6inlgn; %zpltjt;s [~i310 .oa {7 -276 in depth
B0-70) L injany N 500 2.5 0.0 mounting holes
(3 o 1122 031 G4 1.122 @41
2.205 .012 2.520 2.520
M4 a [astening
. plate fscfen vith
Operation hexacpnd1 holes 1_ 02 10.2
402 402
tening flate a1 2-M5_(P=0.8)
— F——1
2-4.1%" dia. L ! I T o holes
-1 . — .728
2>M3x2m;umn fotes Hounting netat | [2-T] Hourgeiy 1
cover screw —H . ] -|- W6 arn [Fasten ~ 1 1a <+
M6 arm fastening plate sdrew uit A
Jaxs plate scre vith hexagonal holdf ] ' | 551
iee exagonal holes )
) JEEED, i 2
= 64 15. 7> 008 64 ’
8 .012 2.520 ] 5 1 2.520
N 214 0.3
1.1 -p03 .01
30.3
215 (P=0.8) tapped 1.19 20 2-W5 (P=0.8) tapped
mounting holes " N I mounting holes
2-u3x23 (Stangard t 4+ ( type) [ ——|
— i
cover screw C } I IA
\-E? 51 Z; 51
1 1
7.50.2 7.502
202 151 ]-2% 008 205 008
827 o151 ]
28 | 2594 _|20.403 20.4 0.3
1.102 25 .803 .012 .803 .012
.984

(46.4) (1.827)

<SZL-WL-B> (Standard type) (Indicator type)




YL-VL

Honeywell

12.5 dra.x3.8
stainless steel roller

PT 1.5 max
'= T
14.8
583
]
38
2-4.1 %* dia. 1.496
mounting holes
M3x6
cover screw (|
D 56 0.3
//,K:: 2.205 .012
Operation indicator

2-M3x23
cover_screw

[
N
L p]
[t

210.2
.827 .008

28 .|
1

1.102

20.4 0.3
.803 .012

|
=
?‘ 14
.551
]

7.50.2
295 .008
15.1
.594
)

984
(Standard type)

<SZL-VL-E>

<SZL-VL-C

<SZL-\.-D>

2-M5 _(P=0.8) tapped
7 .276 in depth
mounting holes

. 2-M5 (P=0.8) tapped
mounting holes

>

10.2
402

Far)

L

.157

T

"\

64

2.520

e

L NN |

7.50.2

151
594 |og 4

e 30.3
1.193

(Indicator type)

.295 .008

0.3
.803 .012

2-M5 (P=0.8)

7 .276 in depth
mounting holes




SZL-VL Honeywell

12.5 dia.x3.8
stainless steel roller 10.2 10.2
402 .402
PT 1.5 max
|
14.8
583
38
2-4.1_’3"2 dia. 1.496 4
mounting holes I)__r 57 I’ r) 157
[

M3x6 20.4 0.3 “\.2-M5_(P=0.8) tapped 2-M5 (P=0.8)

cover screw -803 .012 | . 7 276 in depth 7 .276 in depth
mounting holes mounting holes
64 64
56 0.
/C:) 2005 012 2.520 2.520
Operation indicator
N I
£ .8) tapped -
mounting holes moun holes
|1 | Tl g
< = L |
2-M3x23 \
cover screw 14 \ 14
551 — 551
1 | 1
7.50.2
210.2 lL_.{r-50.2 295 .008
~827 008 | 15.1_|-2% 008 151}
2 -594 ; 205 o2
1.102 25 30.3 o
.984 1.193
(Standard type) (Indicator type)
<SZL-\L-H>
10.2 10.2
PT 50 max 402 402
3 dia. 3 dia.
118 118
w.2
‘ 30_max Nylon rod FLAD
1.5
.634 stainless
515
2.028
100 1.5
3.937 .059
I
100 1.5
3.937 .059

2-4.1 9* dia.

K 4
mounting holes .157 -157

2-4. ia.
mounting holes i 157
M3x6 4 | 2-M5 (P=0.8) tapped ~_| 2-M5 (P=0.8;
o3 AN - ppe (P=0.8)
cover screw \ “gfj3 .qra 7 .276 in depth N \ 7 .276 in depth
ing hol ing hol
N3x6 50403 N2-5 | (p=0 B "EAingh otes ofus (pzolgy Munting holes
cover screw 56 0.3 “803] .o12 7 .28} in depth A 7|-276 in 6épth
/C .205 .012 moRofR6g holes mpunting.6ae:
56 0.3 o 64
Operation _indicator ,E:: .205 .012| 2.420 2.52
Operation_indicats _J 4 -~ _
ration_indicator | | 2-U5 (P=0.8) tapped 2-M5 (P=0.8)
| —— o) SPEC -
mounting holes | mounting holes
= = b kp=0.8)" thppea d| s -ols) 9
2-M3x23 I g holes [ =
cover screw i 14 [ 14
= > 551 = 551
cover screw L 1 4 1 L 1
] 56T [ 55
.50.2 | 1 7.50.2
7 g5012_|-295 008 52 151, |-295 -008
~2884.00¢ 295 00894
Lfs1_ds s s 20.4 0.3
5 - .803 .012
25 984 20403
987 | 303 | I
1.193
€ -
(StandéPlapgisayl type) (Indicator GJpjicator type)

<SZL-VL-F>




SZL-VL Honeywell

<SZL-VL-G>




